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(i)  ¥o7-9F 9R @S] H 49715 a1 7 8 — %, &, Tua & /

57 F97-97 4 o7 40 597 8 | @ 397 374 & |

(i) EUE-& F I97 GEIT1 G20 T%F 20 J97 8 0 JI% J97 Uk 37 BT 8 |

(iii) @UE—& 7 J97 a1 21 G 26 7% 6 I97 & Uq JI% J97 @ 37H] H 8 |

(iv) TUE-TH J57 G&IT27 G 34 TF 8 J97 & T I Jo7 diZ- 311 H1 |

(v) @US-T 5 T &I 35 @40 T 6 F97 8 U Ycdeh Jo7 AR bl HT 8 /|

(Vi) ¥oH-97 § GHY W F3 [95cT 767 & | TA00H~TeF 3% qict @ 51 7, @l-a) b1
g1t &1 3wl 8, d7-AT 7] It i T H, FR-TR H Frer di Fe1 F AR
[T 137 77 & | 0F 3971 4 SaeT Uk g [ @ 3R o710 |/

(vii) WW%@%\WW%W%WW@%%@FW?/

(viii) FATPAR #1 IFHITTET 8 |
@S
g ug - &
T HE&AT 1 =10 % Sgloshed! T4 8 {51 Tk &1 1 37 7 | 98 forehed gHT |
1. If¢ T I I heg (3, 5) B TUT Teh M & A fg (4, 7) (2, y) &, MWy HIAF @ -

(a) 3 (b) —3 © 17 d) 4 1
2. % 1 ST TER CIHAT o Tehd- UM % ST Eid 81T ?

(a) 2 (b) 4 © 5 @ 1 1
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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This question paper comprises four sections — A, B, C and D.
This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark
each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two
marks each.

(iv)  Section C — Question no. 27 to 34 comprises of ‘8 .questions of three
marks each.

(v) Section D — Question no. 35 to 40 comprises of 6 questions of four
marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark, 2 questions of two
marks, 3 questions of three marks and 3 questions of four marks. You
have to attempt oz@one of the choices in such questions.

(vii) In addition &@ 1S, separate instructions are given with each section
and ques%{@~ wherever.necessary.

(viit) Use a@ulators isinot permitted.

Section - A
Question numbers 1 to 10 are multiple choice questions of 1 mark each.
Select the correct option.

1. If the centre of a circle is (3, 5) and end points of a diameter are (4, 7) and
(2, y), then the value of y is

(a) 3 (b) -3 () 7 d) 4 1

2.  The decimal expansion of will terminate after how many places of

25 x 52
decimal ?
(a) 2 (b) 4 ) 5 d) 1 1
430/2/2., 3 P.T.O.
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3. T foach T A1y 3BT MU | 3feres A 31feres Uk st 314 < TiRiekar B ¢

1 1

(a) Z () E

2 3

(© g (d) Z
4. o) SR RN 1 STINT BT 8 A HA

(a) ATEq (b) HTfETHT

(c) SgTh (d) Tfi g 1
5. < TSN w1 A.4. (HCF) 27 8 991 391 .9, (LCM) 162 8 | Ifc Ush T&aT 54 8, I

(a) 36 (b) 35 ) 9 (@ 81 1
6. 23 T

(a) Tl R | \\Q‘Q (b) i de 2 |

(©) mﬁﬁaa’w%%g (d) T i EEne | 1

Q\Q%

7. @aﬁqaﬁa@gw%s@ﬁﬁﬁwm%:

(a) 1 (b) 4 ) 2 @ 3 1
8. fewgug 242 = 13x + 6 % I o, AT B &, A o + B K 2

(a) -3 () 3 © 2 @ -2 1
9. TUH @S AB %1 Aefg P(0, 4) 7 | AG B o Fewmh (-2, 3) 7, a1 A o Fewh &

(@) (2,5) (b) (-2,-5) © 2,9 (d) =2, 11) 1
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3. Two coins are tossed simultaneously. The probability of getting at most

one head is
1 1
(a) 1 (b) 9
2 3
= d) — 1
(c) 3 (d) 1
4. The cumulative frequency table is useful in determining
(a) Mean (b) Median
(¢) Mode (d) All of these 1
5.  HCF of two numbers is 27 and their LCM is 162. If'one of the number is
54, then the other number is
(a) 36 (b) 35 ()9 (d) 81 1
6. 243 is
(a) an integer ® (b) a rational number
(¢) an irrational nm%ﬁe (d) a whole number 1
S
7. The maximusr@lmber of zeroes a cubic polynomial can have, is
(a) 1 % (b). 4 (c) 2 (d) 3 1
8. If o and B are the zeroes of the polynomial 2x2 — 13x + 6, then o + B is
equal to
13 13
(a) -3 (b) 3 () — d) - — 1
2 2
9. The mid-point of the line-segment AB is P(0, 4). If the coordinates of B are
(=2, 3) then the co-ordinates of A are
(@) (2,5) (b) (-2,-5) (©) (2,9 (d) (=2, 11) 1
.430/2/2.] 5 P.T.O.
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10. 3TBfd-1 7 AP, AQ @ BC 3% O dTcl 91 <l @191 W@t g | afg AB =5 aft, AC =6
ot qem BC = 4 @fi B, 41 AP <t of@rg (At ) 2
A

HTHIA-1

(a) 15 (b) 10 (© 9 d) 7.5 1

TR HEAT 11 8 15 e o Y1 § o €M1 3h1 g hITT -
11. @ 99ed By <l G7a YoisTi § 3 : 4 1 379G &, A 39 FISi o &hal ol ST

2 1
12. ¥ forg e feigati (4, 0) T (0, 6) & &+ Bry 1 &% & : 1
A
fagati A(1, 3) @1 B(4, 6) ! e ool WEe i 2 : 1 | fquifsa & aret fag &
o 1

13. (tan260° + sin245°) xg(:?% 1

14, %amaﬁwﬂ@(be O%qAHHA | 1
15. (sin 430'00&7"+sm47°cos 43°) T HH ST & 1
I =T 16°F 201 4 e o I i

16. STR{d-2 H, ¢l Gehrad I, [T g O & TUT Teh! Breamd 7 9eft aem 3.5 &+t 8, <6t
PQ 7t AB 1= # 1 3fe £ POQ = 30° &, &t STifhd ST BT &het 7T BT | 1
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10. In Fig.-1 AP, AQ and BC are tangents to the circle with centre O. If AB=5
cm, AC =6 cm and BC = 4 ¢m, then the length of AP (in cm) is
Figure-1
(a) 15 (b) 10 (© 9 (d) 7.5 1
Question numbers 11 to 15, fill in the blanks :
11. The corresponding sides of two similar triangles are in theratio 3 : 4, then
the ratios of the area of triangles is 1
12. The area of triangle formed with the origin and the points (4, 0) and (0, 6) is
1
OR
The co-ordinate of the point dividing the line segment joining the points
A(1, 3) and B(4, 6) in the ratio 2 : 1 1s 1
13. The value of (tan260° -4-\@450) 18 ) 1
&
14. Value of the root\Q the quadratic equation, x2 —x — 6 =0 are 1
Q
15. The value of{8in 43 “cos47° + sin 47° cos 43°) is 1
Answer the following question numbers 16 to 20.
16. In figure-2 ISEQ and AB are two arcs of concentric circles of radii 7 cm and
3.5 cm resp., with centre O. If £ POQ = 30° then find the area of shaded
region. 1
.430/2/2.] 7 P.T.O.
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17.

18.

19.

20.

21.

22.

23.

24.

Ife 3k — 2, 4k — 6 TUT k + 2 Teh FHIGR Al o SHitid Y€ 3, a1 k 1§ FId HITT |

(cos 48° — sin 42°) &1 TF HTd HIfTT |
JAYAT
T F1d HIfSTT : (tan 23°) x (tan 67°)

APQR® ST T 3AY: o7l PQ @M PR UG g 76 ST | | QR 2 13 PT =
2 Teft 941 TR = 4 9t B, 1 Bregeit PST a2 PQR % &5l § ST9Td 1d shiforg |

a1 fir=1 firerepl o1 Ueh T1 3BT T | HH § Y Ueh ford 31 hl TiResar R B 7

WUE -
T3 TEAT 21 © 26 b T I3 6 2 37 & |
A ‘ 1 1 _ 3
frg ﬁ;‘1+sin6+1—sin6 28V
o \\Q&Q
mwﬁrl_t 5 = ¢0s20.~ sin20
1& n-<o
2
(2x2 — x + 3) I (2 = x). 7 U Y | YATHer a7 Avhet off ferRau |

7 STt Tt Ueh URER T, 9 | HH Gl TSk &I shl JTIIehdT FTd hIT |
YA

Tl U8 Tsh 1Y 3BT T | T <Y wifrepan tma <hifw

() S UTE T HE AT 3T 6

(i) < TS HTAM 9 F fyE B i

Teh AT | 10 T 319 AT 25 WTeft & | Teb 34 U bl ITHIhal 18 7
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17. If 3k — 2, 4k — 6 and k + 2 are three consecutive terms of A.P., then find the
value of k. 1
18. Find the value of (cos 48° — sin 42°). 1
OR
Evaluate : (tan 23°) x (tan 67°) 1
19. In a A PQR, S and T are points on the sides PQ and PR respectively, such
that ST | | QR. If PT = 2 cm and TR = 4 cm, find the ratio of the areas of
A PST and A PQR. 1
20. Two different coins are tossed simultaneously. What is the probability of
getting at least one head ? 1
Section - B
Question numbers 21 to 26 carry 2 marks each.
21. Prove that : 1, + 1, = 2 sec?0 2
1+sin® 1+&sin6
OR S\\Q
Prove that : ¢ ? = c0s20.— sin20 2
1 n-0
$
22. Divide (2x2 — x + 3)'by (2 — x) and write the quotient and the remainder. 2
23. In a family of three children, find the probability of having at least two
boys. 2
OR
Two dice are tossed simultaneously. Find the probability of getting
(1) an even number on both dies.
(1) the sum of two numbers more than 9. 2
24. In a lottery, there are 10 prizes and 25 blanks. What is the probability of
getting a prize ? 2
.430/2/2.] 9 P.T.O.

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

25. T IS ABC o 3T=17d Ush I 36 YehR WidT 7141 7 foh I8 3Tl AB, BC @@ AC &l
FA: P, Q 99T R W ©931 &hdT &, If¢ AB = 10 @t, AR = 7 ot a2 CR = 5 Tt g,
@l BC ! &g 31 <hifv |

26. TH gl 6t fire areft g8 f Fe1E 14 I 7 | 15 e & 5@ gE gro e @ a1 S
T I |

wog -1
Y T 278 34 TH TS T 3 IF 2 |
27. 3TeRE GRI & hIfT :
2x—3y+13=0;3x—2y+12=0
28. fag h e /3 = sufma gen |
DG
JfFAE TETTRH o TN & 272 G 1032 1 Hgad THMats (HCF) 3 shifsr |
29, AfCx=3sinO+4cosOTATy =3 cos 0 —4 sinh &, al g Ffvu s «2 +y2=25
ST
Ife sin 0 + sin20 = 1 8, a1 fig HIT T cos20 +¢os0 = 1.

30. fereht sem o, =R fir foigati , C 3T D W o3 g &, ST fohb 31mepfal-3 o grien mom 8
T 3T TUA HET H 3 3 8N $w fore d% <@d & 1e, =d1, =iel ¥ Iud 2,
‘1 8 7 Gt & BESABCD G it 2 7' wrielt gl wewa T & | g G b s
W,wﬁssﬂg@%w%?

NN s T
S ¢ £l
; =P
€ sk tter
Alt—tAe L L €
s |18
? D{ﬁl 1t
O™ 7234 56 7 8 910
WY
HTEHIA-3
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25. A circle is inscribed in a A ABC touching AB, BC and AC at P, Q and R
respectively. If AB = 10 cm, AR = 7 cm and CR = 5 cm, then find the
length of BC. 2

26. The length of the minute hand of clock i1s 14 cm. Find the area swept by
the minute hand in 15 minutes. 2

Section - C
Question numbers 27 to 34 carry 3 marks each.
27. Solve graphically :
2x—3y+13=0;3x—2y+12=0 3
28. Prove that /3 is an irrational number. 3
OR
Using Euclid’s algorithm, find the HCF of 272 and 1032. 3
29. Ifx=3sin0+ 4 cos 0 andy=3cos 0— 4 sin@ then prove that x2+y2=25. 3
OR
If sin 0 + sin?0 = 1; then prove that cos20 + cos*0 = 1. 3
N

30. In a classroom, 4 fri “és are seated at the points A, B, C and D as shown
in Fig. 3. Champa Chameli walk into the class and after observing for
a few minutes G@%pa asks Chameli, “Don’t you think ABCD is a square ?”
Chameli dis s. Using distance formula, find which of them is correct. 3

10— T T o
w O i v
Fy e e cfY
2 Y 8 ! ;,
(EREEEC.e=
0 ;
1 23 4 5 6 7 8 9 10
Columns
o Figure-3
430/2/2. | 11 P.T.O.
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31. 7 Tt SETS 1 U WETES Tifw ayr 3@ 2 : 3 % U § faurfia SHifsr | 3
EDE)
4 Gt s <1 U g W qe 39k e § 7 9l <1 gl o fRaa wh o foig © 9a W
et e Eifa | 3
39, zr&awsagqaf@):g,xzwﬁ1asw§,aﬁ(%+ﬁjwmmaaﬁq| 3
a

33. e faefiar 3.5 Tt Fo arel Ueh 3% % TR o1 8, 911 I B3 arel ueh 31 el W
AT 8 | Afe Raeid 1 ot Ha18 15.5 T 7, A1 81 aogul g Shat Frd

HIT | 3
34. 3TH{d-4 T, 3 g0 W foig C W vt &t & | g e foh C W i gt <6t wveht vt
T P aUT Q TS <hl High TRi T 1 FHIGHTSH LAl & | 3
R
Q
Q
&
Q\Q% -4
§§
Qg - g

99 &1 85 5 40 dH TS YT & 4 36 3 |

35. Tk Gl o U TeohIll TR @S Ueh e, 4] oh g fohTR T TS Teh I8 o TR 1 I~
I 60° U1 8 | I 98 o & 30 T gL ST 2, Al 98 I~13 Hhiv 30° UTa1 8 | J& hl

T qen ¢ <hY =erg i I | [V3 = 1.732 wfifsig) 4
36. firg <hifST fop Q1 aoed RISt < St T STUTA ITeh! HTA T3 o a1 o 3TUTA
FAF AR | 4
Jtera
forg T fop vk e foig & g X wfi=h 18 vt Wi <6t wasaf se B 2 | 4
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31. Draw a line segment of length 7 cm and divide it in the ratio 2 : 3. 3
OR

Draw a circle of radius 4 cm and construct the pair of tangents to the
circle from an external point, which is at a distance of 7 cm from its
centre. 3

32. If a and B are the zeroes of the polynomial f(x) = 5x2 — 7x + 1, then find the
value of (% + Ej 3

(0

33. A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of
same radius. If the total height of the toy is 15.5 cm, find the total surface
area of the toy. 3

34. In the Fig.-4, two circles touch each other at a-point C. Prove that the
common tangent to the circles at C, bisects the common tangent at P and

Q. 3

P
R

Q

N\
&
&
N

Figure-4

Section - D
Question numbers 35 to 40 carry 4 marks each.

35. A person standing on the bank of a river observes that the angle of
elevation of the top of a tree standing on opposite bank is 60°. When he
moves 30 m away from the bank, he finds the angle of elevation to be 30°.

Find the height of the tree and width of the river. [Take V3 =17 32] 4
36. Prove that the ratio of the areas of two similar triangles is equal to the
ratio of the squares of their corresponding sides. 4
OR
Prove the length of tangents drawn from an external point to a circle are
equal. 4
.430/2/2.] 13 P.T.O.
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37. T8 15 THt aYT A 16 Tt ATeT Teh 31 oo § H $H SHaTs 3R SEH SAE AT Th
YFETRR @I hIS fT ST 8 | 39 S 319 1 HVY01 IS & T Shitae | (39T
ERIE LR RIRAIT 1)

Ebe)
Teh 1% Sl aTs 10 At 8 | 38 I hl ITh! HATS o S=le= F glhL II1d gL Ueh da &
Sl YT § 1T TR 8, Sfeh et I oh SR b THIAL & | G AT o STRIGHT T ST
ST ST |

38. e THIGL S 1 1791 U 9 8 d UG o G § 5 31fueh & | Afe 36 Gurat &1l &1 1191
Ug 43 7, A ST ndl Ug T I |

Ebe)
TR 4 3, 5, 7, 9, ... < foha Tal 1 ITHS 120 FFTH 7

39. Tqu U SRERAT S 1 W1 HTA HIFT :

Bl 40 — 45 flé\%{g) 50 — 55| 55 —60 | 60— 65 | 65 —70 | 70 — 75
FRERAT 2 e§9‘3 8 6 6 3 2
N

40. @gﬁ%ﬁ%@%5@@@@%@@%?6001&43@%3@%@%%%|
T 1 T ool H1d I |
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37.

38.

39.

40.

From a solid cylinder whose height is 15 cm and the diameter is 16 cm, a
conical cavity of the same height and same diameter is hollowed out. Find
the total surface area of remaining solid. (Give your answer in terms of )

OR

The height of a cone 1s 10 cm. The cone 1s divided into two parts using a
plane parallel to its base at the middle of its height. Find the ratio of the
volumes of the two parts.

The 17th term of an A.P. is 5 more than twice its 8th term. If 11th term of
A.P. 1s 43; then find its nth term.

OR
How many terms of A.P. 3,5, 7, 9, ... must be taken to get-the sum 120 ?

Find the median for the given frequency distribution :

Class 40 — 45|45 - 50|50 — 55|55 = 6060 — 65|65 — 70|70 — 75
Frequency 2 3 8 6 6 3 2

If the price of a book i‘sﬁ%duced by.X'5, a person can buy 4 more books for
7 600. Find the ori@l price of the book.
N
N\
@$

.430/2/2.] 15

%E

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

%E

.430/2/2. 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

